
dx m - i o ( x  + to) 3 [ f ( t  - to)] = f(x) e 
-m 

- io to  
= e j f(x) e-iwx dx 

-m 

(1.45) 

lf.m.vi. 

= F(w-wo) 
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= - 1 F(U- WO) +- 1 F(w + 00) (1I.pI.n. 
2 2 

= iwF(w) 
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(1.49) 

fl(t)*fZ(t) = fZ(t)+fl(t) (1.50) 
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(1.52) 

(1.53) 
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= fi(t) h(t) 

= [ OD fl(x) e-iox dx J Fz(w) 

= [ 

-m 

fl(t) e-iwc dt J F2(w) 
-m 

MA 343 35 



(1.56) 

w- y = x 

1 "  = - Fdy) eiYt [ I F~(x)  eiXt dx ] dy 
2 R  -m -0 

= 2x fl(t) f2(t) 

w'w2io 
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1 - - -  
(1 + iw)2 

1 1 
I+ iw  l + i w  

= -.- 

+X) 0 
= 1 e-' u(x) e u(t -x) dx 

= 1 e-' u(x)u(t-x) dx 

-m 

m 

-00 
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2 sin w F(w) = - 
W 

2 sin ( - w )  F(-W) = 
- W  

- 2 sin w - -  
W 1 

= F(w) 

1 ”  
272 -m 

f(t) = --I F(w) eiot dw 

1 ”  
2n -OD 

= - j F(w) (cos wt + i  sin wt) dcc, 

i ”  
2n -m 2n -OD 

= -j I m  F(o) cos wt dw +- F(w) sin wt dw 

2 ”sin w dm f(0) = - 1 - 
R O W  
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EVE QA Ot 

Lm+ZUIO u 
mp im so3 - I- = a UI z 1w- 

ox 
mZ mp Im so3 (m)"a - = (1)3 



i p d  oin (1.56) 

cll.m.w. l m  m 
J fi(t) fz(t) dt = - I Fi(w) Fz(-w) dw 
-m 2 R  -m 
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= [ f(t) eiot ] * dt 
-m 

m 

= [ j 

= F * ( - w )  

f(t) e-'(-@*dt] * 
-m 

1 -  j f ( t ) f*( t )dt  = - j  F(w)F* { - ( - ~ ) ] d w  
-m 2s  -m 

m 

= -1 l o  F(w)F*(w)dw 
2s -m 

(1.59) 

, ?(.%W. 

I . W . W .  

2 sin wa IlnZ F(w) = 
w 
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F(w) = 2Fc(w) 

C1I.A.W. 

(1.61) 

F(w) = -2i F.(w) 

(1.62) 

43 
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m 

-m 
WW) = g(t) sinwt dt 

X(w) = I g(t) coswt dt 
-m 

1 COSWt + COSW(R - t 
f(t) = - J . I d w  ; - w < t < w  

R O  . 1 - 0 2  
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